2018 SEMESTRAL EXAMINATION 1
PRIMARY 6

PAPER 1

A)

Total Time for Booklets A and B: 50 min

You are not allowed 1o use a calculator.



‘Which digit in 85.96 is in the tenths place?

(Y
2
3
4

5

1.2

®

2)

3

4

Which one of the foilowin
wall in your classroom?

0
2)
3)
%)

30com

3cm

g is the most likely length of the whiteb

1.2

1.205

e

1,205 { )

rd on the

{Go onip the nexi page)



4 In the figure below, PQRS Is a rhombus. Which two lines are paraliel to
| P

() PQandPR

() PRandQS

(3 QSandRS

(4) RSandQP ¢

5 Megan has some biue, red and yellow beads. —; of the beads ars blue.
The ratio of the number of biue beads to the number of red beads is 2 © 3,
What fraction of Megan's beads is red?

m 3

@ =

3
@ 3

.3
4 %

{Go on o the next page)



Alex is tyears old. Bob-is 2 times as old as Alex. Calvinis 3 years younger
than Bob. How old will Calvin be in 8 years’ time?

()
@)
@
)

(2¢—5) years

(2t + 5) years

{2¢ -~ 11) years

{2t + 11} years { )

The ratio of the length of a rectangle to its breadth is 3 : 2. The perimeter of
the rectangle is 40 cm. What is the length of the rectangle?

)
@
(3)
@

The figure below is made up of 2 identical equila
3 idenfical squares. Find the perimeter of the figure,

(1)
2
3
(4)

12 cm
16 cm

24 om )

eral tiangles and

I0em

54 ocm
60 cm

84 om ()

{Bo on to the next page)
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11

£BFED and £CFE are vight angles arnd AFE i a straight iine.
Find the sum of ZCFD and ZAFB.

(1
@

(3

4

G

849

86°

104° ' ¢ )

The sum of four numbers is 1020, One of the numbers is 150, What is the
average of the other thres numbers?

)
@
@)
@

105
255
290
390 ¢ )

At first, Jamal had $192 and Ken had $84. Ken gave some of his money o
Jamal. In the end, Jamal had three fimes as much money as Ken. How
much meney did Ken have in the end?

(M
)
)
@

$15
$20
$54
$69 {9

{Go on fo the next page)
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A tank was filled with $ome water 2107 00. Water flowed out of the tank
from 0700 to 1100, The line graph shows the amount of waler in the fank
from 070010 1100

' Volume ——

in Sires

07 00

0800 0900 1000 1100

Time

What was the average decrease in the volume of water from 07 00
1o 11 00?7

Q)

13.2 litres per hour
14.4 litres per hour
16.5 litres per hour
18 fitres per hour

{Go on o the next page)
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14

The'table below shows the mumb
playing compuiter games in.a parlicularweek.

"Number of hours | Numbe

b

ENFRIENT

Yy
)
3)
(4

10
42
76
79

. What was the total number of hours these students spent playing compuler

in the figure below, ABC and DEF are two overlapping triangles and ADB is
a straight fne. What isthe value of £p + £Q + Lr + £8 % £E+ £+ 2v?

)
(2)
@)
@

480°
51¢°

?

{Go on to the next page)
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A printer takes 50 minutes fo print a total of 1200-identical black-and-white
posters and 500 identical coloured posiers. The same printer takes

one hour o print 2400 such black-and-white posters. How many such
coloured posters can the same printer print in ong hour?

M
2)
(&)
4

2040
1500
1000

{Go on'to Booklet B)



2016 SEMESTRAL EXAMINATION 1
PRIMARY 6

PAPER 1
(BOOKLET B)

Total Time for Booklets A and B: 5D min

You are not aliowed to use a calculator.



Questions “16 to 25 cany 1 mark each. Write your answers in the spages provided. | Do notwiite
For questions whith reguire units; give your answers in the uniis stated. | inthis space

{10 marks)

16 Express 8.02 as a mixed number in is simplest form.

17 Use the digits 9, 5, 4 and 2 to forms a 4-digit number that Is closest o 5000,
Eachdigit can only be used once.

18 The figure below is made up of two identical rectangles. Each rectangie
measures 10 cm by 4 cm. Find the perimeter of the figure.

Aps: ‘ __em

{Bo on 1o the next page)




5

The figure belowis made up.of 2 identical squares of side 7 o
AM@&WW&MSEM Find the area of the.shaded par

{Take 7 = = -)

Ans:

20

A rectangular piece of paper measuring 14 o by 2 cm is folded into the
shape as shown below. What is the area of the shaded pant?

em

ity this Spac

"{Bo on fo the next page)




21

Numberef ;

The following bar graph show

Each student could only vote-once.

3 the. favourite fruils voted by some students.

Lyci’;ee

E

Rambuian
Types of fnsit

Durian

Given that 6 students voted for “Apple™ as their favourite fruit, find the totsl
number of students.

Ans:

“The table below shows the time taken by 5 different runners in a rice,

Runner

Time taken in seconds

R e

Al

144

Ben

14.8

Chanes

138

Dinesh

13.7

14.6

What was the average ime taken by the two slowest runners?

ssconds |

{66 on o the next page)




23 Complete the figure below so that line AB is the line of symimetry. | Dopot writé
’ o .} nthis space

BI

24 A car ravelied 60 kmn from 16 00 to 16 40. What is the average speed at
which the car travelled?

Ans: km'h

25 The ratio of the cost of one shirt to the total cost of one shitt and 2 similar
blouses is 3 ; 7. Given that each blouse costs $30, find the cost of one shirt.

Ans:§

{Go on 1o the next page)




answers in the spaces provided. For questions which require units, give your answers | in thisspece
in the units statéd.
{10 marks})

26 The figure below is not drawn 1o scale. ABCDisare
length of AB. Find the area of the shaded region.

5cm

tangle. EB is % the

A

- 120m ~— >

Ans. o om?

27 in the figure, CBD is an ispsceles riangle and 2ACD is 152°.

Find £CBA.

Ans: - °1

" {Go on lo the next page)




$2 each
| Buy 5 and get 1 free

t
L

e ar———— O

What is the least amount of money needed to buy 30 such cupcakes?

Ans:'$ —

There were some children in a sports hall, % of them are girls. After ::- of the
girls had left, there were 36 more boys than girls remaining in the sporis
hall. How many children were there in the sports hall at first?

Ans;

given a 20% discount. She had 10 pay a 7% GST on the discounted Qwe
How much did she pay for the handbag in the end?

Ans: %

Ed

The usual price of a handbag s $250. Micheile bought the bag and was!

End of Paper 1

inthis space

B




MESTRAL EXAMINATION 1
MATHEMATICS
PRIMARY 6

PAPER 2

Time for Paper 2: 1 h 40 min

¥ou are aliowed 1o use a calcuiator.



§ Do notwrite
inthis spaca

1 The figure below is formed by a sgvare and & semicircle.
: Find the perimeter of the figure.

(Take = = 22

b wa W e W e W

F )
y

21 cm

Ans: Y m

2 Ann, Beth and Cirdy shared some cookies in the ratio 2 : 3 : 7 respectively,
Each of them received an average of 324 cookies. How many more cookies
did Cindy receive than Ann?

{Go on 1o the nexi page) .




3

Jack has less than 50 sweets. if he packs the sweets in bags of five, he will-
have 4 sweets left. if he packs them in bags of seven; he willkhave § sweets
left. How many sweets does Jack have? |

Ans:

Do ndtvrite

i this space

The table below shows the amount of water Jenny used during her shower
from Monday o Friday last week.

Amciant of water used i lilres

What was the aversge amount of water used on each day from Monday fo
Friday?

Ans: , __iires |

TGo on 1o the next page)

[xk4




In the figure below, A and B ars right-angled irian

The base of triangle A is 24 cm., “i‘habas&m‘mngiemsr%mmebaseaf

iriangle B. The height ofiriangle B istwice the height of tiangle A.
Given that the area of triangle A is 84 om®, what is the area of triangie B?

Do ot wrile
in this space

Ans:

24 cm

om?

{Go on to the next page)




For questions 8 to 18, show your working clearly and wrile your answers inthe Donotwrie
spaces provided. The number of marks available is shown inbrackets [ Iatihe.end { I ihis spece

of each question or pari-question, o
{50 marks).

8 Salmah paid $21.10 for 2 bowls, 3 plates and 4 cups.
Each bowl cost 3 times as much as each cup. Each plate cost $1.20 jess
than each bowl. What was the cost of one plate?

Ans: 3

{6 on to the next page)

g




The table below shows the.prices of pencils and notebocks sold at a } Do not write
bookshop. inhis space.

Pendil poents
Notebook | {3p — 5) cents

{a) SHi bought 4 pencils and 1 notebook. Express the amount of money
: that she spent at the bookshop in terms of p in its simplest form.

(b} Ming Wen paid $7.50 for 8 pencils and some notebooks.
i p = 30, how many notebooks did he buy?

Ans: {a) . MY

{bj 2

{Go on to the next page)




AWmafwwmmwamaf&m,Amﬂﬁ a8

Ans: _ 3]

13¢5 notowiih
ndhds spac

~{Go on 1o the nexi page)




Tina had two rectangular tanks as @ownbelow?ankkwasg full. There e g;

out of it and into Tank B. When Tina poured 1.7 litres of water
into Tank A, how much water will flow out of Tank A into Tank B?

Ans: B

{Go 1 to the next page)




10

mﬁgumbeiowwmaﬂemaﬁmr&gkaﬁ?anéi?@ﬁ and 2 identical
semicircles. € is the mid-point of AB and G is the midex

Fmammm of the shadext parts.
{Takezcm-?—) N

it of DC.

3

{Go on 1o the next page)

ﬁnmm




b After selling 693 concest tickels at $75 each, ﬁiﬂ‘em%—r of the ticketsJeft. | i this space

% of the remalning tickets were sold at $60 each and the rest of the tickets
were given away free. What was the tolal amount of money collected from
the sale of tickets?

Ans: — 41




12

MrSura) saves 40% of his salary every month. He gives «%ﬂfﬁw remainder
to his-wife and divides the remaining amount.of his salary equally among his.
two parents and two daughters. Given that both of his daughters receive a
total of $352 from him, find Mr Suraj's monthly salary.

Ans: | 4

~ {Ga on o the next page)

.nihs space




13

The figure below Is not drawnto scale. ABCD-is ashombus and ACE s 2
straight line.

(a) Find 2CFE.
{b) Find 2BCF.

Ans: {a) B ) B

(6) R

{Go on o the next page)

in this space

11




14

Bemice-gnd Andrew drove from Town-G o Town H. Bemice dove at an
average speed of 90 kmh and took 40 min to reach Town H.

Andrew drove at an average speed of 80 kinih and reached Town H later|

(a) Whatwas ihe distance between Town G and Town H?

{b) How many minutes earlier did Andrew start driving than Berice?

Ans:{a} | ]

(b} _. RS

- in this space

"{Go on to the next page)




15

There were some chicken pies, beaf pies and mution pies forsale at a
bakery% of the piss werg chicken pies. The ratio of the numbér of beef
pies fo the number of mulion pies was 7:-3. There were 56 fewer beef pies
than chicken pies. Affer some beef pies were sold, 30% of the remaining
pies in the bakery were beef pies and mutton pies. How many beef pies
were s0id? N

Ans:  _ R
1450 ON 10 Ihe next page)

Lo notwrite
. In this space

13




18

Mr Lim and Mr Wong bought soms light bulbs at prices shown below.

i

4 for $14.50

(@

{b}

Mr Lim bought 40 small bulbs and 86 large bulbs to fix in his office. He
fixed an equal number of small bulbs in each room in his office and
had 1 smal bulb left. He also fixed an equal nimber of farge bulbs in
each room in his oflice and had 1 farge bulb left. How many rooms
were there in Mr Lim’s office’?

% of the bulbs that Mr Wong bought were smail bulbs. Given that bhe
paid $158.30 in fotal. how many buibs did Mr Wong buy altogether?

Ans: (@) A2
(b) (31
{Go on o the next page)

inihis Space

4




17 The rectangle belows divided into 5 pats, A, B, C, Dand E: 1 Bonotwrte
' o , inihis-space

Themtioolfthe ateaofAtotheareaof DiothesreaofEis§:3: 4.
Theralioofthe areacfAtothearea of Bis 3: 4.

(a) Findthe féﬁo of the area of B to the area of Cto the area of E in the

, simplest form. )
{b) Giventhat the area of A is 80 om?, find the area of the rectangle.

Ans: (a) e , ,.{337
b 12

(Go on to the next page)

15




....... 90 _
18 ‘There were some greern and red apples i a box. Ted took out % pfthe ;nﬂgsﬁ
green apples from the box. He eplaced each of these green app?wiake:r

out with red apples. Aﬁerﬁ}at,hemk@m% of the green apples and 3 of

the red apples. There were 108 green apples and 228 red apples left in the
box in the end. What was the tofal number of green and red apples

in the box at first?

End of Paper
Seflers:

16




' Henry Park anary School 2016

Semestral Exammatlon 1 Mathematlcs anary 6

Paper 1 Booklet A
Q1 4 Q2 1 Q3 2 Q4 4 Qs 4
Q6 2 Q7 2 Q8 3 Q9 1 Q10 3
Qi1 4 Q12 3 Qi3 3 Q14 2 Q1s 2
Paper 1 Bookiet B
Q16.8>
‘750
Q17.4952

Q18. 48cm (10x4+4x2)
‘Q19. 49cm? (7x7)

Q20. 16cm?(8x2)

Q21. 44 (12+18+8+6)
Q22.14.75s (14.6+14.9)/2
Q23.

Q24. 45km/h (60/40x60}
Q25. 545 (60/4x3)

Q26. 10cm?

Q27. 45 {360-49-152-48-66)
Q28. $50 (10x5)

Q29. 120 (36/3x10)

Q30. $214 (200%1.07)




Paper 2

Q1. 96cm (96+33)

Q2. 405 (972/12x5)

Q3. 19 (15+4 and 14+5)

Q4. 41 (205/4)

Q5. 42cm?(84/24x2, 1/2x6x14)
Q6. $2._70 {21.10+3.60=24.70, 24.70/19=1.3,1.3x3-1.20=2.70)

Q7. (a) (7p-5) cents (b) 6 (8x0.3=2.40, 7.5-2.4=5.1, 5.1/0.85=6)

Q8. 82 { (90-69)x2, (90-62)x2, 180-42-56=82) -

Q9. 0.3 (15X20X14=4200, 10x20x14=2800,2.8+1.7=4.5,4.5—4;2=0.3}

Q10. 189cm? (2x0.5x42x21=882, 22/7x21x21x0.5= 593, 882-693=189)

Q11. 59895 {693x75=3, 693/9x2=198, 198/3x2x60=7920, 7920+51975=59895)
Q12. 1600 (352X2=704, 704/ 11x15=960, 960/6x10=1600)

Q13. {a) 35 (180-112-33) (b} 15( (360-74-74)/2=106, 106/2=53, 180-112-53=15
Q14. (a) 60km (4/6x90) (b) 2min (60/80=0.75 Or 45 mins, 45-40-3=2}

Q15. 25 {C:B:M=15:7:3 = 105:21:49, total = 150, 45-21=24, 49-24=25)

Q16. {a) 13 (40-1 =39, 66-1=65) (b) 30

Q17. (a) 20:16:12 > 5:4:3 (total = 72) (b) 450 (15u=90, 72u = 450)

Q18. 522

A O



